cg o2 g
E+ T2 |o g
w_b g = Z © ©
a2 Sl |8 8 8
FEzo |8 > ..81..8
8ozo | o N xo|x?o
®8°To |2, | e8| Q A5 as| «
=2Ng (22 %2 = o N e e
c~ 93 N o <3 < S S |o
Trel (883 85| =2 2 |3 |Z8:
s oS [3LF| g0 cC |zZ&8|Z¢&|¢
N © . S0 @ ° % @) ‘N
L x5 S5 | 598 5 o
2 c = NS 22 > be) iNi
222 15,7 28| =2 a | N
O®mom s %y | =2 ©
BN g2 o = - — @ S
= 0 + N £o s N S N~
g |83 T | X o a 3 o
Owp o™ N (G} > | a [0} by
o= 2 E 5 & =) - 2]
W @ © c N
o] © X = (@) u“— = .
S ' 2z IS x © o N
282 |3 14 ] A
888G O 3 o s
aNec> |* ‘N - <
o § N c N =
oo = N
N o » 2 [ = <
o a =2 > ()
S =
>
< | o>
[0 d O > Z (8]
D @) < Z o) < <
= 2 X =
< = < = < = o <
=X 0w | = o} Yi N |«
u w S |<0 32| wg 2 |3
N3 =g (N0 | 58 =2 |
= S| <82 2> 35 3 |98
z0 Z = <0 Z N =1
= < >0 Xs| o w3
N s »
<
Z
s
O o
Mw <
—
o © L 000 1 1 ovez 4
9 L 000 +95'vSZ 4 L5752 wm I5s) ooo L9vse
o +
0 @] s
X )
Lo L
® z
R o
X
2ll | ooe- | osvszl vevsz
Al
g L o5 -+ 6v'vSz 8S'vSZ |
&
L 509~ 1 19v5Z + 89'VSZ -|
N\
N\
AN
\,
: L Tg2- 1 £9'852 1 89'¥6Z |
\.\\H L 162~ 1 £9'852 + 69762 |
Vs
s
gl /
< | /
w|| /
o L 056" -+ 69'vSZ + 6975Z |
[a)] @]
c c
.w 2
S
© — =) .m —_ c
o) S c D )
o o © o o
© = = s S [¢]
@ o) Qg
[S] © - oY
o 2 © )
‘= [0} () c [ C
S c c =1 o} -
2 - o 7] oY oY
2 o o3 ° N N
O e Y O [v'd [v'd
o L 000 + ETYSZ + TT'¥SC = - 000 - EEVae - cE'vaC 1
L 000 - €665z + z6°€5Z | o :
; To}
= N
o o o
o [oe] e
R 5o 5 4
Ny ™ d ™
+ ]
Lo
]
ofl o . .
=8 L ooe- L s0vsz L L0vST mz : l l 00°€" 4= Le'¥GC e BCVSC
) I L ooe- L seesz L 18765z ] & y ose |, 9ovse |, sovse Sl 05°€" Yy oevse y Sevse ]
8 ll l J l ) ose- | 9gese |, sese m ege- -m E.EN-W 50752 €9'e- | BEWSZR ST VST
L m ege- -m wm.mmm-m 58'852 ore- |\ ervse [\ vovsz ose- [} sewae |\ ez vse
ore- |V seese |\ veesz < S
N N
& N <
N P 3 : _ .
3 | y ose | zzvsz |/ ssese q 05's ¥ [44 Emum 082 |
< E E E o . .
9 y oss |, tovsz |, Lrese j N ssg- | zzvez | ssese o—O0—§ ss's- [\ ervae | Lo€se
E 3 E ! '9- - 8€'¥SZ + 8€'EST
o—o—=f N sge- N 1ovsz N erese L so9- 48Tz 4 81852 §0'9- - 8E'VSZ - 8E'EST
o0’
I 609~ - 26'€5Z 1 L0°€SZ | D
A
O
b - 6v'L- - c2'€Se + L6'€ST 8V'Ls - eviese 4= L0aE
- 052~ 4 T0'€ST - LL'€ST - 68~ 1 zzese - L6'€52 88'Lr - ev'ESC T VI'PSE
N e 1,,- i o,
L 0672~ 1 10°€ST - L2°€ST 5
0,
7 L z06- + s6€52 -} 26°€52 00°6- 7= 9T'¥Se - 9T'¥Se
L v0'6- + 227652 + 127657
o o)
= o
o
o
- z
5 o ° S
o | _ | 2 = | 2
o 3 5 c o D 5]
o ] [O) o] () o
o o) c ® m = — st )
= ) 3 ) [} ° i)
© o fut O o - &>
3 = @ = [0) [0)
[} T Q = o Q c c c
[0y c c c S S S
= (] [} > ko] ko] o o o
c c c 2} (0% (0 O N N
> ° © o N N o & &
3 > | @ o | o
O 1 1
<
X Z o
wgLo L 000 + 4 5z - L 000 - 26'€5Z 1 56°€5Z |
_AM.W T} L 000 - z8'€5z 1 £8'€5Z |
—
N w ~ o
Oz + Q
Ox W S
o xom 9]
o ~ .
© — _..__w R
N ™
5 &
thy
L0 52 L ooe- L oreszl eresz
@ P l l l ) ose | suese |, 1rese
L m ege- -m B.mmw-m L1852
ore |\ i8esz |\ 12652
L o0gp- 1 98'€52- S8'ESZ R
8
L /g5 4 86'€52- S8'£5¢ @ : . .
Cobd T B8RS T BT 9 ) oss | osese | erese |
sve | 8oEse | sgese o|o|%A N g6 N os'esz N erese
[ce)
- G0'9- -+ 98'€5Z 1 TL'E52
)
Pa
E mww = JAkeE= dfEe- L 152 +-5825C - 68252 -
L 1672~ -+ S8'25Z 1 S2'€SZ |
- ov'g T 00vSz 2.°€527] “
3
L v0'6- -+ 15652 1 £5°€SZ |
o
o
- o
I~ 8501-T zsesz eeese] o
B I 86°0T-+ 2S'€SC 82'€SC
- zeTT-+ vo'esz- 8Z'ESe
-& -& ye—
o o 8
o — 3 ° . =) 5
S | @ | § S |1 B | & 8|3 | E
] (@] = ® (@] = ()
= = o) = = o ® @] st
[&] © -— O © -— — st o)
(O (6] [$) © -—
c 2 2 c 2 2 o © ©
c c c c = c c c c
> ke; §e; 2 ° B > O O
[0 o g o] ) [ [ »
o N N ° N N 8 @ o
©) Y Y ©) Y Y O oY [0




